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Sergio Daicz Qué estará pensando la sanguijuela en este momento?



Veq = RT
zF ln [Kout]

[Kin]

Intracelular Extracelular Veq

K+ 400 20 -75

Na+ 50 440 55

Cl− 60 560 -56

Ca2+ 0.0001 10 145
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IC (t) = C dVm(t)
dt IR(t) =

Vm(t)−Veq

R

IC + IR = 0

C
dVm(t)

dt
= −(Vm(t)− Veq)g
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C
dVm(t)

dt
= −(IK + ICl + INa + . . . )

Iion = (Vm(t)− Vion)gion

Veq =
VKgK + VNagNa + VClgCl + . . .

gK + gNa + gCl + . . .

Veq = −60mV

C
dVm(t)

dt
= −(Vm(t)− Veq)g
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C
dVm(t)

dt
= −(Vm(t)− Veq)g + Iinj

Vm(t) = Veq + (1− e−
t

RC )
Iinj

g
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Vm(t) = Veq + (1− e−
t

RC )
Iinj

g
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gK (t) = ḡKn(t)4

dn

dt
=

n∞(Vm)− n

τn∞(Vm)

gNa(t) = ḡNam(t)3h(t)

dm
dt = m∞(Vm)−m

τm∞(Vm)
dh
dt = h∞(Vm)−h

τh∞(Vm)
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gK (t) = ḡKn(t)4

gNa(t) = ḡNam(t)3h(t)
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Igap = −(Vm − Vm2)ggap

Isyn = −(Vm − Vrev )gsyn(t)
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